Q0 LINE

CmatIC® 350 bar’& & F R A L

PNEUMATIC FITTINGS Push-in Fittings for Hydraulics, 350 bar

RIFEEL |, TRMZEIE350 barf) TEERMIT ZFMK, EEBIFH  Push-in Fittings designed and tested to guarantee a working pressure of 350 bar.
BRIt , RERE, HE, 24, TEEBIE , RHEAZHEAER  The compact, innovative design allows for safe, quick and easy assemblies with

HMBRERBENZET G no need for assembly tools on reduced manifold spaces as well as duRing difficult
LM MR Z AR ESE BT ELNBHBEHEXN , ETEKL  assembly operations. The hydraulic tightness between the Fitting and the plug is
HE RIS B R AT B T4 guaranteed by an o-ring outside of the fitting itself. This feature enables the fitting

service-ability in case of o-ring damage or wear out.

125



“___

AR BRBER TEH EHE B2 $78
Body and Gripping Collet Release Ring Safety Ring Seals Backup Ring
N N PAB6 NBR 90 Sh PTFE

Zinc plated steel Zinc plated steel

A

‘:
‘
0

\\EFHE@
3
ECM

@

-30°C-100°C &350 bar

G1/4 G3/8 G1/2 G3/4 7/16-20 9/16-18 3/4-16 111612 M14x15  M16x1.5  MI8x15H  M20x15
4 ° ° °
‘ 6 [ ] ° PY
g 8 ° ° °
g3 12 ° ° °
HARAE DATA SHEET
BIMEZEER . Recommended tubings:

R {LRARNT RS RBRER  ATEERENERBURTERER, Synthetic oil-resistant rubber hose with braids reinforcement; the ferrule for the hose termi-
nal will depend on the hose type.

NG : Application fields:
WERE Hydraulics.

126




Tubing insertion depth

L Plug-in DN Dash L
4 31

6 335

8 375
42

e ”

R A

1HARE FERRAEXREFNESZHE |, A2 EWESE,
2 mERAELA , FHERD , ABARLHRUTREAKE TS,

HEE R
1 HTERR T AN Z R ;
2. BEERERMR , BIFREMNELFRE,

ERERE  BRHEEEERASNAD I, BRECKEENE

é:§ NEHEERHE M EIA AR,

O HTReERESELRNBRABAS MM | THATRE A
RESHREETBHNLEL, RothEEs —KEESE, ReHF

EATERNE  EhasERS.

BT RE | B EEARSHNEBIGEE.

ASSEMBLY INSTRUCTIONS

1. Make sure that the back up ring and the tightness ring are assembled and duly greased on
the straight hose connection.

2. Push the straight hose connection all the way into the fitting until it bottoms; the hose con-
nection can be assembled also if the safety ring is in place under the release ring.

Tube release
1. Remove the safety ring under the release ring
2. Press the release ring and pull the hose connection out of the fitting.

Once the tubing is connected to the fitting, make sure that the tubing is not subject to
& any tensile strength and that the min. recommended bending radius stated in the tubing
section of this catalogue is complied with (see page 335).

In order to prevent an involuntary hose disconnection due to an accidental pressure on
the fitting release ring, make sure that the safety ring is always in place when the fitting is pressur-
ized. The safety ring shape allows for a fixing wire to be connected. A KIT is also available and it
contains the safety ring pre-assembled with the fixing wire. To tighten threads, please check out our
tightening torque chart illustrated at page 6.

127




BSPPIRLE Bk

Straight Push-in Fitting, BSPP Thread

B3l Plug-in DN Dash D1 Thread L1 L2 CH g &0
1204 G1/4 04 G1/4 12 46 20 60.8
12 06 G3/8 06 G3/8 12 48 24 855
12 08 G1/2 08 G1/2 14 54.5 28 128.8
1212 G3/4 12 G3/4 16 615 38 228
BSPP (IS0 1179-2)
UNFIRGE &k Straight Push-in Fitting, UNF Thread
— B3l Plug-in DN Dash D1 Thread L1 L2 CH g &b
12 04 7/16 UNF ORB 04 7/16-20 9 43 20 60.8
12 06 9/16 UNF ORB 06 9/16-18 10 46 24 855
CH 12 08 3/4-16 UNF ORB 08 3/4-16 " 51.5 28 1288
o 12121-1/16 UN ORB 12 11/16-12 15 60.5 38 228
SAE Oring Boss - UNF Stud (IS0 11926-3)
s \ \
DN
D1
NHIRGE B L Straight Push-in Fitting, metric
B3l Plug-in DN Dash D1 Thread L1 L2 CH g &b
F:EJ 1204 M14x1.5 04 M14x1.5 1 15 20 608
12 06 M16x1.5 06 M16x1.5 1.5 475 24 85.5
12 08 M18x1.5 08 M18x1.5 125 53 28 128.8
. o 1212 M22x1.5 12 M22x1.5 13 58.5 38 228
Metric Stud (IS0 6149-3)
T
DN
D1
Q0 90
REEEL Hose Connection, straight
¥l Plug-in DN Dash  Hose ID (inch) Hose ID (mm) C CUT-OFF(mm) g Ay
90041/4 04 1/4 6.2 382 214
90 06 3/8 06 3/8 9.5 40.3 38
- H 90 08 1/2 08 1/2 12.9 456 64.1
: I 9012 3/4 12 34 19 52.1 1328

128



45° UG8 45° Hose Connection
Eiil Plug-in DN Dash  Hose ID (inch) ~ Hose ID (mm) C CUT-OFF (mm) D drop (mm) g iy
91041/4 04 1/4 6.2 62.2 376 419
91063/8 06 3/8 95 67.6 40.3 718
91081/2 08 1/2 12.9 76 43 1214
91123/4 12 3/4 19 97.5 56.4 273.2
(&)
e*’;}\
D

90°IHE 90° Hose Connection

| D B3l Plug-in DN Dash  Hose ID (inch)  Hose ID(mm) ~ C CUT-OFF (mm) D drop (mm) g6d
92041/4 04 1/4 6.2 333 62 47.6
92063/8 06 3/8 95 379 67.5 81.9
92081/2 08 12 12.9 447 725 140.7
92123/4 12 3/4 19 59.8 98.5 325.6

(&)
w - I §
SAFETY KIT

Etii] g &b
SAFETY KIT DASH 04 =
SAFETY KIT DASH 06 -
SAFETY KIT DASH 08 -
SAFETY KIT DASH 12 -

129



EAEK

QO1EAEARBRERJENRRAR , RENF R, ERTREERABIRLILFF SZHE,

Push-in Cartridge Fitting

The Q010 cartridge is the right solution in case of lack of space; the compact design allows for the assembly of the cartridge in such a way that it almost completely disappears once
assembled in its own body ( manifolds/ valves etc)

B3l Plug-in DN Dash D1 Thread L1 L2 CH g &b
— 1004 00 04 M18x1 13.2 217 17 223
F 10 06 00 06 M22x1 13.9 231 21 33
Bl | e 1008 00 08 M26x1 153 25.1 25 46.7
5 ; 101200 12 M34x1 18.2 282 32 80.3
DN
D1
I ~E Cartridge Seat Drilling Plan
DN (Dash) D1 D2 D3 D4 L1 L2 L3 L4
04 M18x1 162 10.8 94 8 106 144 231
06 M22x1 20 14 12.25 85 1 15.3 24.3
08 M26x1 24 17.8 16.2 9 12.1 16.9 279
12 M34x1 322 25 23 12 15 206 326

60°

D1

D2 005

D3 005

|

12 0,05
L1 +050

L3 :005

L4 s01

DN

D4 005

1 BERRYEMITEALEE ;
2 MEFR , FBEARLR A BRI ERRE ;
3 EEALRBY LRER—ERRBEMER

4 FEABKITARERS BRI,

e

1. Machine the cartridge Seating according to the drawing stated below;

2. Place at the bottom of the Seating the distance Ring provided with the cartridge , as shown
in the picture;

3. Apply a light layer of threadlocking sealant on the cartridge thread;

4. Screw the cartridge all the way into its Seating until it bottoms.

130





